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Microwaves of wavelength 4.0 cm are produced by two microwave transmitters P
and Q operating in phase. Point X is 2.5 m from transmitter P and 2.0 m from
transmitter Q as shown in the figure. Microwaves from transmitter P arrives at point X
with intensity / and amplitude of oscillation A while the microwaves from transmitter Q
arrives at point X with intensity 4/. Determine the resultant intensity at point X in
terms of /.
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Ans: B
‘Waves from P has intensity I and amplitude A.
‘Waves from Q has intensity 41 and thus has amplitude 2A.

Path difference =PX-QX=25-2.0=05m

Since wavelength is 0.04 m. then the path difference = 0.5 /0.04 = 12.5%.
Thus at point X the waves meet out of phase.

Resultant amplitude =2A - A=A,

Hence resultant intensity =1





